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Poisson process number of events intime and or spacefollows
a Poissondistribution
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Interpreting regression coefficients
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What happens if Xin increaseto Xiett
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Xie multiplicative effect
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2.91

2 pi pot pi xpit increaseby e 1.17
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Waaf multiplyby
if W increase by one unit

3 XT average width 26.3

I exp plotpreXI 2.74
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Maximum likelihood estimation
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Hypotusing faff E d ETing
regression

Thesaretest
A Pa 5

A large model Pa param MLB EX Sa Wtc

B small model pp poem MLBr San W pro _2

Ho large and small model is equally good
the p's in pot but not in pp are all zero

the not so

gU sips sips YF Ifs caps
sips

test statistics IpapdxDT Cpapopcpa po x1

If U is large Ho is not correct 5 reject Ho
the B model is not as good as the A model

when n is large U kpa PB
see R code on module pagefor details on

calculating ll
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